
1.  (𝑎) Obtain the first three terms of the expansion of  (1 +
𝑥

2
)

−4

. 

      (𝑏) Use your expansion to simplify 1.02−4 up to four decimal places. 

2.  Solve the equation: √4𝑥 + 1 + √2𝑥 − 3 = 4. 

3.  Given that  𝑓(𝑥) = 𝑥3 + 𝑎𝑥2 + 𝑏𝑥 + 8  and that the remainder when 𝑓(𝑥) is  

     divided by both (𝑥 + 1) and (𝑥 + 2) are 6 and − 8 respectively;  find 𝒂 and 𝒃. 

4.  Resolve 
4𝑥3 − 1

(𝑥 + 1)(𝑥2 + 5)
 into partial fractions. 

5.  Three vectors 𝒂, 𝒃 and 𝒄 are (
8
3

) , (
6

−5
) and (

2
3

) respectively. Find the vector 𝒅 such 

      that |𝒅| = √41 and 𝒅 is in the direction of 𝒂 + 𝒃 − 𝟐𝒄. 
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